2 3 4 5 | 6 I 7 l 8

Cover Material
M: Metal(Znic alloy)

Positions
09: 9pin

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 03/02/07 ~~ LJIC 03/02/07
BOM LIST B s eIk 0 | YCH 07/18/08 ~_
ITEM | PART NAME Q'ty NOTES
1 [METAL HOOD 2
2 |LONG BOLT 2 NOTES:
S5 |SCREW 2 1. PART NUMBER CODE:
4 |ISMALL WASHER| 2 DS1047 — 09 X X X
5 INUT 2 T Bolt type
L: Long
6 |SHORT BOLT 2 S: Short
Packing type
1: Mix packing
7.0 2: Separation packing
\
9 r ‘ |
N~
] amun I EE

26.9
28.9

46.9

| 4-40 UNC 2 %t: | [ﬁ
OfF— ” Nl l

@ 0
Oj' A
2 9 'S Knurling 5_7@
SMALL WASHER
VAl ==
® —
= .0 30.5 - 2 2.0
i 12.0 39.9 ‘6
37.6
44
Long BOLT NUT
13.7
3 13.5 a5 UWN'c?;Ho
M3 [\ o~ <
— N { ‘7,%,
Short BOLT
SCREW
GENERAL TOLERANCE| ANGLE TOLERANCE ; TITLE
PROJECTION @ = 4 D—SUB 9pin Metal Cover
X. +0.60 X. +5 UNITS mm
X +0.38 X £3 SHEET SIZE A4 SERIES [ DS1047 SERIES
XX +0.25 XX 2 .
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—09XXX—B connFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJC 03/02/07°
ITEM | PART NAME Q’ty NOTES
1 METAL HOOD 2
2 BOLT 2
3 SCREW 2 NOTES:
4 NUT 2 1. PART NUMBER CODE:
DS1047 — 15 X X X
T Bolt type
L: Long
39.14
1 7.3 Packing type
\ 1: Mix packing
g 2: Separation packing
o Cover Material
R M: Metal(Znic alloy)
ol o
o Positions
N 15 L 15: 15pin
0
S |: 2 0 g >
. . \s)
4—40 UNC ¥ S Knurling
6.0 10
16.5
24.1
44
o
BOLT
4
M3 2.0
5.4
SCREW NUT
GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
PROJECTION @ = 4 D—SUB 15pin Metal Cover
X. +0.60 X. 15 UNITS mm
X £0.38 X =3 SHEET SIZE A4 SERIES |DS1047 SERIES
XX £0.25 XX 22
= _
DRAWING TYPE |COSTOMER = ﬁ];] EE ? ﬁ BE Z\ EJ
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—15XXX connFLY CONNFLY ELECTRONIC CO. LTD

4

| 5

6

[ 7 [

8




1 2 3 4 | 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LIC 03/02/07° ~ LIC 03/02/07'
ITEM | PART NAME Q’ty NOTES B e YCH 09/14/07° ~
1 METAL HOOD 2
2 BOLT 2
C : Y 3 NUT 2 NOTES:
m ! 11 4 SCREW—1 2 1. PART NUMBER CODE:
o0 | | 5.1 METAL WASHER 2 DS1047 — 25 X X X X
o 5 |5.2| PLASTIC—1 WASHER| 2 T wash type
5.3| PLASTIC—2 WASHER 2 1: Metal
47.04 2: Plastic—1(Lock type)
6 SCREW—2 2 - ! vP
3: Plastic—2(Screw type)
7 SR 1
Long type
L: Long
Packing type
53.04 < 1: Mix packing
~ 7.3 2: Separation packing
! Cover Material
L?
WX M: Metal(Znic alloy)
% Positions
Q | 25: 25pin
2 l - - - -
| :
0 T 0 >
o |: 3
M "
— s L =T S
1.8 24.0 |
el = g
 ——— )
26.0 ;H@} 25, g_]
L ! Vv
T —_— - — — — — e Metal |
34.7
3 14.0 S 29 ‘
M3 2 ole g 2 < g K$\
™ S
N| & N 4
é\Q 4-40 UNC = s ® 3 & =
s 3 ) £ . | N
. | NN DR Ep—— JE— - — M|
(VN |of = m 54| || 20 : | —180 FNSE
DAL o,
Jouu - -
\ y,

] .0 o2
6.0 1 K e ‘
NUT & 16.5 : : gl {%L%%ﬁ%@ E{ AT T 1B |
13.5 y 24.1 | : [so]
12.0 o M3 :Ii @ 44 Plastic—1 Plastic—2 M2.5

18.6 e p— 50LT _ _ __ _

3.1
— GENERAL TOLERANCE| ANGLE TOLERANCE @}—{} TITLE
SCREW—1 PROJECTION D—SUB 25pin Metal Cover
mm

UNITS

9 X. +0.60 X. =5

S

7.7

5.9 P X +0.38 X &3 SHEET SIZE A4 | SERIES | DS1047 SERIES

H AN XX +0.25 XX £2° .

. DRAWING TYPE [COSTOMER @ ’TEE' #;]SJ EE‘ ? ﬁ IKE /A.\ ﬁJ
SR SCREW—2 SCALE 1:1 [SHEET |1 OF 1

DRAWING NO. | C—DS1047—25XXXX connFLY CONNFLY ELECTRONIC CO. LTD

1 [ 2 I 3 4 | 5 6 I 7 I 8




1 2 3 4 | 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJC 03/02/07°
ITEM | PART NAME Q'ty NOTES
1 METAL HOOD 2
2 BOLT 2
3 SCREW 2
4 NUT 2 NOTES:
1. PART NUMBER CODE:
DS1047 — 37 XXX
T Bolt type
/.3 LL: Long
| Packing type
— 1: Mix gogkp'mg
e} 2: Separation packing
| o
ol o 15 ] Cover Material
o ﬁ* ' M: Metal(Znic alloy)
: @ ——Positions
I: 37: 37pin

|
e

|
|
|
|
|
——
=
=
|
|
42.0
50.9
2

9
‘ : Te) 00 5.4
| 4—40 UNC  —| ™ g i e »M‘
: q 9 nurlin . NUT
| |
,H,iNFi‘:, X <N
63.5 6.0‘ |
16.5 1.0 ©
241 |
44
BOLT
GENERAL TOLERANCE| ANGLE TOLERANCE -
c ¢ PROJECTION @G M D—SUB 37pin Metal Cover
X. +0.60 X. 5 UNITS mm
X +0.38 X +3 SHEET SIZE A4 SERIES [ DS1047 SERIES
XX +0.25 XX £2°
= -
DRAWING TYPE |COSTOMER = ﬁ];] Eﬁ ? %‘ I}E Z\ EJ
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047-37XXX cornnFLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11’ S
oF
W/ SR 6.5
W/O SR | 83.0~89.5
oF
N NOTES:
%500 Ps 1. PART NUMBER CODE:
20.60 ' DS1047-02 — 09 X X X
. | 7/ —_ _—
LSR Support
(9 S: W/ SR
D X: W/0 SR
Packing type
1: Mix packing
2: Separation packing
% Cover Material
2 DSloa7.02 M: Metal(Znic alloy)
! ——Positions
09: 9pin
il o [
T ] T
‘ 15.00
| 24.99
31.60
.F”'r%g:ﬁ‘.‘!‘ g
o o 3
CLerd |7
BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW M2.5*8 1 M2.5
2 METAL HOOD—1 1 Znic alloy
3 SCREW M2.5*%6 2 M2.5
4 WASHER 1
5 SR 1
6 | STRAIN RELIEF | T GENERAL TOLERANCE| ANGLE TOLERANCE
7 [ BoLT 2 | UNC 4-40 CE |PROJECTION | @—EF [TITLE D—SUB 9pin Metal Hoods
8 | LATCH-1 1 X +0.60 X +5 UNITS mm Large Angled Cable Outlet
W90 ALAAET&HL—HzooD ; 1 — X +0.38 X 33 SHEET SIZE A4 SERIES | DS1047—02 SERIES
- fic a7oy XX £0.25 XX 2
»
DRAWING TYPE [COSTOMER )‘L% #;]SJ H < ﬁ R 7N i)
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—02—09XXX connFLY CONNFLY ELECTRONIC CO. LTD
2 4 | 5 6 I 7 I 8




1 2 3 4 5 I 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF
W/ SR $6.5
TYPEA W/0 SR | 83.0~99.5
W/ SR $9.0
TYPEB W/0O SR [#8.5~912.5
NOTES:
/é 1. PART NUMBER CODE:
%05 DS1047-02 — 15 X X X X
23.30 / : TSR Support
) S: W/ SR
X: W/0 SR
\ Type Support
A: Type A
B: Type B
3 7-02 H Packing type
¢ 1: Mix packing
") 2: Separation packing
1 Cover Material
17 M: Metal(Znic alloy)
& G, Position_s
20000 15: 15pin
33.32
40.00
o 8
TYPE A BOM LIST TYPE B BOM LIST
ITEM [ PART NAME Q'ty [ NOTES ITEM | PART NAME Q'ty [ NOTES
1| SCREW ELE 1| SCREW 3 [M3
2 | METAL HOOD—1| 1 | znic alloy 2 | METAL HOOD—1[ 1 | znic alloy
431 WASHER ; i \éVRASHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 15pin Metal Hoods
CABLE REDUCTION PLATE
5 | SR 1 5 | STRAIN RELIEF [ 1 X. £0.60 X. =5 UNITS mm Large Angled Cable Outlet
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-02 SERIES
7 | BOLT 2 [unc4-40 7 | LATCH—1 1 XX +0.25 XX +2
8 | LATCH-1 1 8 [ LATCH-2 1 = ¥“ N /\ ey
8 | LATCH-1 ! e DRAWING TYPE |COSTOMER = T’];J EE‘ ? ﬁ IKE 73 EJ
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' | 1 OF 1
DRAWING NO. C—DS1047—02—15XXXX conmnFLY CONNFLY ELECTRONIC CO. LTD
1 ! 2 3 4 | 5 6 ! 7 I 8




1 2 3 4 5 I 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF

W/ SR #8
TPEA /o SR | 3.0~985

W/ SR $9.0
TPEB =5 SR [98.5~0125

NOTES:

1. PART NUMBER CODE:
DS1047-02 — 25 X X X X

TSR Support
S: W/ SR
X: W/0 SR

Type Support

A: Type A
B: Type B
| Packing type
1: Mix packing
2: Separation packing
Cover Material
M: Metal(Znic alloy)
Positions
3 1 25: 25pin
1
28.00
47.04
53.70
TYPE A BOM LIST TYPE B BOM LIST
ITEM [ PART NAME Q'ty NOTES ITEM | PART NAME Q'ty NOTES
1 SCREW 3 M3 1 SCREW 3 M3
2 | METAL HOOD—1| 1 | Znic alloy 2 | METAL HOOD—1[ 1 | Znic alloy
3| WASHER 1 3 | WASHER i GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 25pin Metal Hoods
4 |CABLE REDUCTION PLATE| 2 4 SR 1
5 [ SR 1 5 | STRAIN RELIEF [ 1 X. +0.60 X. 5 UNITS mm Large Angled Cable Outlet
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-02 SERIES
7 | BOLT 2 | UNC 4-40 7 | LATCH—1 1 XX +0.25 XX +2
8 | LATCH-1 1 8 | LATCH-2 1 = ¥ N /\ e
9 [ LATCH—2 i 9 | METAL HOOD—2| 1__| Znic alloy DRAWING TYPE |COSTOMER )ﬁ‘ T)]/] EE‘ ? ﬁ IKE /s a
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' | 1 OF 1
DRAWING NO. C—DS1047—02—25XXXX connFLY CONNFLY ELECTRONIC CO. LTD
1 I 2 3 4 | 5 6 I 7 I 8




| 6 | 7 | 8

oF

TYPE A

W/ SR 99

W/0 SR

23.0~812.0

TYPE B

W/ SR

$11.5

W/0 SR

$12.0~915.0

48.00

.

T
‘ 44.00
63.50

70.20

18.20

~
I
|
-

TYPE A BOM LIST

TYPE B BOM LIST

REV.

DESCRIPTION DRAWN CHECKED APPROVED

NEW RELEASE YCH 03/22/11’ ~~

NOTES:
1. PART NUMBER CODE:
DS1047-02 — 37 X X X X

TSR Support
S: W/ SR
X: W/0 SR

Type Support

A: Type A

B: Type B

Packing type

1: Mix packing

2: Separation packing
Cover Material

M: Metal(Znic alloy)

Positions
37: 37pin

PART NAME Qty | NOTES ITEM | PART NAME Qty | NOTES
1 | SCREW 4 M3 1 | SCREW 4 | M3
2 | METAL HOOD—1] 1 | Znic alloy 2 | METAL HOOD—1| 1 | Znic alloy
3 | WASHER 1 3 | WASHER 1
4 _[choLE RepucTon pLATE[ 2 4 | SR 1 GENERAL TOLERANCE| ANGLE TOLERANCE —F i
s 1 T c CE |PROJECTION | @& |TITLE D—SUB 37pin Metal Hoods
& T <TRAN RELEF T3 & TBoLT 2 T UNG 220 X, +0.60 X, 45 UNITS mm Large Angled Cable Outlet
7 [ BoLT 2 |UNC 4-40 7 [ LATCH-1 1 X +0.38 X 3 SHEET SIZE A4 SERIES | DS1047-02 SERIES
8 | LATCH—1 1 8 | LATCH—2 1 XX +0.25 XX +2°
9 | LATCH-2 1 9 | METAL HOOD-2[ 1 Znic alloy . . . = ¥ /\ ——
10 | METAL HOOD-2| 1 Znic alloy DRAWING TYPE |COSTOMER J_:KA T)]>] EEA ? ﬁ IKE A a
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—02—-37XXXX connFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 ! 7 ! 8




1 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09’ N
15.00
NOTES:

32.70

31.30

1. PART NUMBER CODE:
DS1047-04 — 09 X X

[

Packing type
1: Mix packing
2: Separation packing

Cover Material
M: Metal(Znic alloy)

Positions
09: 9pin
BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW 2 M2
2 METAL HOOD—1 1
3 BOLT 1 UNC#4—40
4 METAL HOOD—-2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @G TITLE D—SUB 9pin Metal Hoods
X.  +0.60 X, 45 UNITS mm Large Angled Cable Outlet
X £0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-04 SERIES

= FHE AT R ]

XX +0.25 XX 2
DRAWING TYPE [COSTOMER
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—04—09XX

connFLY CONNFLY ELECTRONIC CO. LTD

4

5

6 I 7 I 8




1 4 S | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09’ N
15.00
?5.0 NOTES:

42.08

38.00

1. PART NUMBER CODE:
DS1047-04 — 15 X X

[

Packing type
1: Mix packing
2: Separation packing

Cover Material
M: Metal(Znic alloy)

|
‘ ——Positions
I 15: 15pin
[
20.00
33.32
39.50
BOM LIST
ITEM [ PART NAME Q'ty | NOTES
1 | SCREW 2 M2
2 | METAL HOOD—1| 1
3 | BOLT 2 | UNC#4—40
4 | METAL HOOD-2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @€ [TITLE D—SUB 15pin Metal Hoods
X +0.60 X, 45 UNITS mm Large Angled Cable Outlet
X +0.38 X £3 SHEET SIZE A4 SERIES [ DS1047-04 SERIES
XX £0.25 XX £2 .
DRAWING TYPE |COSTOMER )‘L% #;]SJ EE ? ﬁ IKE /A.\ ﬁJ
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—04—15%XX connFLY CONNFLY ELECTRONIC CO. LTD
1 4 | 5 6 I 7 I 8




2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A NEW RELEASE YCH 12/31/09’ N

15.00

$6.20

NOTES:

38.00

1. PART NUMBER CODE:
DS1047-04 — 25 X X

[

Packing type

2 ‘ 2 1: Mix packing
T \ g' 2: Separation packing
E_ ‘ (KT#JUU@Q ! Cover Material
- ‘ } | M: Metal(Znic alloy)
‘ (¢ I ) ‘ Positions
! C 1 D] ! 25: 25pin
% =]
26.00
‘ 47.04
53.50
{ . rﬁ: BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW 2 M3
2 METAL HOOD—1 1
3 BOLT 2 UNC#4—40
4 METAL HOOD—-2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @& | TITLE D—SUB 25pin Metal Hoods
X +0.60 X, 45 UNITS mm Large Angled Cable Outlet
X £0.38 X %3 SHEET SIZE A4 SERIES | DS1047—-04 SERIES
XX £0.25 XX 22 .
DRAWING TYPE [COSTOMER @ )% ﬁ]ij EE‘ ? ﬁ IKE /A.\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—04—25%XX connFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 ! 7 I 8




1 2 3 4 5 l 6 l 7 l 8

38.00

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09’ ~
15.00
29.0
- NOTES:
, — 1. PART NUMBER CODE:
/ \ ( DS1047-04 — 37 X X

Packing type
1: Mix packing
2: Separation packing

‘
&

42.16

Cover Material
[ [ M: Metal(Znic alloy)

(1(>)
.:1]
([
(e
[
O

U\@J

| ¢ | ) |
5 7Posit'\on_s
37: 37pin
40.00
63.50
69.80

BOM LIST
ITEM | PART NAME Q’ty NOTES
1 SCREW 2 M3
2 METAL HOOD—1 1
3 BOLT 2 UNC#474O
4 METAL HOOD-2 1
GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @€ [TITLE D—SUB 37pin Metal Hoods
X.  +0.60 X, 45 UNITS mm Large Angled Cable Outlet
X +0.38 X +3 SHEET SIZE A4 SERIES [ DS1047-04 SERIES
XX +0.25 XX 2 .
DRAWING TYPE |COSTOMER @ )‘L% ﬁ]ij EE‘ ? ﬁ IKE /A.\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—04—37XX conneLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 I 7 l 8

32.70

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 04/13/11’ N
oF
oF 4.0
#5.0
/N $7.0 NOTES:
99.0 .
\ / 1. METAL HOOD MATERIAL: Znic alloy
N [ 2. PART NUMBER CODE:
o 8 DS1047-06 — 09 X X
;; " LPockimg type
1: Mix packing
BOM LIST
; Cover Material
5 = ‘TEM SEQEJ\/ NAME tay MSNOTES M: Metal(Znic alloy)
UNC#4—40 é LS): METAL HOOD ; Znic alloy Positions
09: 9pin
4 |LONG BOLT 1 JUNC 4—40
5 |DOWN METAL HOOD| 1 |Znic alloy
I g
[\ S
—o— | | o]
e [ORD)
O +—Oo—
oL —o—
e O O°,
5'—"] ["—'U
~ v
°e O O°e
) [
——QL— ~—I0——
°eO 0°%,

GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ &1 [TITLE D—SUB 09pin Metal Hoods
Large Angled Cable Outlet
X. +0.60 X. +5 UNITS mm ge 9
X +0.38 X i3 SHEET SIZE A4 | SERES | DS1047—06 SERIES
XX +0.25 XX +2° ‘
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1

DRAWING NO. | c—DS1047—06—09xx—-a | €oPRFLY CONNFLY ELECTRONIC CO. LTD

2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 I 7 l 8

42.08

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 04/13/11° e
oF
24.0
5.0
$7.0 NOTES:
9.0 .
] 1. METAL HOOD MATERIAL: Znic alloy
o 2. PART NUMBER CODE:
: DS1047-06 — 15 X X
E LPockimg type
" 1: Mix packing
BOM LIST
g Cover Material
ITEM | PART NAME Q'ty NOTES ) .
T ISCREW > T3 M: Metal(Znic alloy)
2 |UP METAL HOOD 1 Znic alloy e
Positions
S_|SR 2 15: 15pin
4 |LONG BOLT 2 |UNC 4-40 ’
5 |DOWN METAL HOOD| 1 |Znic alloy
N _‘IJ
U IF
—o— | | o]
« O O °.
L—O— L—o, |
oL —O0—
°e O O°,.
_'5'—"] ["—'U‘_
~ v
°e O O°.
) (o
——QL— ~—I0——
o) 0%

GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ &1 [TITLE D—SUB 15pin Metal Hoods
Large Angled Cable Outlet
X. +0.60 X. +5 UNITS mm ge 9
X +0.38 X i3 SHEET SIZE A4 | SERES | DS1047—06 SERIES
XX +0.25 XX +2° ‘
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1

DRAWING NO. | c—-DsS1047—06—15xx-a | €OPAFLY CONNFLY ELECTRONIC CO. LTD

2 3 4 | 5 6 I 7 I 8




1 2 3 4 5 I 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 04/13/11° e
oF
84.0
5.0
<O $7.0 NOTES:
9.0
@ / 1. METAL HOOD MATERIAL: Znic alloy
2. PART NUMBER CODE:
1 o © DS1047-06 — 25 X X
R AGUUES A Lpockmg type
N 1: Mix packing
‘ c——T/—S BOM LIST .
—T > ITEM | PART NAME Qty | NOTES Cover Material
i I T ISCREW > T3 M: Metal(Znic alloy)
26.00 UNCA4—40 2 |UP METAL HOOD 1 |Znic alloy Positions
‘ 47.04 3 ISR 2 ) :
25: 25pin
4 |LONG BOLT 2 |UNC 4—40 '
5 |DOWN METAL HOOD| 1 |Znic alloy
AN 5
| 2
—o— | | o]
« O O °,
Lo - —
——oL— . —
°e O O°,
2, y
°eO 0%,
)
——QL— ~—I0——
®eO 0°,

GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ &1 [TITLE D—SUB 25pin Metal Hoods
Large Angled Cable Outlet
X. +0.60 X. +5 UNITS mm ge 9
X +0.38 X i3 SHEET SIZE A4 | SERES | DS1047—06 SERIES
XX +0.25 XX +2° ‘
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1

DRAWING NO. | c—-DS1047—06—25xx-a | €OPAFLY CONNFLY ELECTRONIC CO. LTD

1 2 3 4 | 5 6 [ 7 | 8




2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A NEW RELEASE YCH 04/13/11’ N

oF

v T 2F NOTES:
@ \ 94.0 _
/ H 25.0 1. METAL HOOD MATERIAL: Znic alloy
@ ?7.0 2. PART NUMBER CODE:

42.16
39.40

9.0 DS1047-06 — 37 X X

LPockimg type
1: Mix packing

(1(=)
g
%
®

U

BOM LIST

* 3 =] ; Cover Material
‘ 40.00 ‘ ITEM | PART NAME Q'ty NOTES M: Metal(Znic alloy)
' 63.50 ' 1 |SCREW 2 (M3

] UNC#4-40 UP METAL HOOD Znic alloy Positions

37: 57pin

SR
LONG BOLT
DOWN METAL HOOD

UNC 4—40
Znic alloy

(SN ENI N}
N Y Y N

15.00

=

GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @& | TITLE D—SUB 37pin Metal Hoods
Large Angled Cable Outlet
X. +0.60 X. +5° UNITS mm g9e ~ng
X +0.38 X 3 SHEET SIZE A4 | SERES | DS1047—06 SERIES
XX +0.25 XX +2° .
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | c—DsS1047—-06—37xx-a | €OPAFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




2 3 4 S | 6 | 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11’ N
NOTES:
o o 1. METAL HOOD MATERIAL: Znic alloy
M— $4.00 2. PART NUMBER CODE:
EB— DS1047-01 — 09 X X
— [ — [ T .
%,7,% \ — | Pockmg typ.e
| | 1: Mix pockmg _
= 2: Separation packing
¥ @
S [ - ?5.00 | Cover Material
‘ ) ! M: Metal(Znic alloy)
; Positions
II ! I ! II | U | 1 09: 9pin
! 24.95 ‘
31.80
47.00
56.1 4.0
oF 5.0
7.0
9.0
1 1 - oF
— &
: — j 7 ) .

BOM LIST
ITEM | PART NAME Q'ty | NOTES
1 SCREW 3 M3
2 |UP METAL HOOD 1 Znic alloy
3 |LONG BOLT 2 JUNC 4-40 GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @& | TITLE D—SUB 9pin Metal Cover
4 |DOWN METAL HOOD| 1 |Znic alloy < £0.60 __— ONITS - 90" type
S |SR 4 X +0.38 X *3 SHEET SIZE A4 | SERIES | DS1047-01 SERIES
6 INUT 3 M3 XX +0.25 XX 2
DRAWING TYPE |COSTOMER }1% ;;]SJ EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | c—-DS1047—01—09xx-a | €onnFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11 ~
NOTES:
- - - - 1. METAL HOOD MATERIAL: Znic alloy
gl $4.00 2. PART NUMBER CODE:
' ; — DS1047-01 — 15 X X
@ ‘ ] | Lpacking t
INng type
| **4} S | I | 1: Mix packing
[Kﬁ]ﬁ]@u@@] o - 2: Separation packing
‘ § § I $5.00 | Cover Material
‘ ( M ! I ! M: Metal(Znic alloy)
] Positions
I L 15: 15pin
. | ; II -
33.32 ‘
40.00
56.40
65.4
oF
]
”—l{J
///
BOM LIST
ITEM | PART NAME Q’ty NOTES
1 SCREW 3 M3
2 |UP METAL HOOD 1 Znic alloy
3 |LONG BOLT 2 JUNC 4-40 GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @& | TITLE D—SUB 15pin Metal Cover
4 |DOWN METAL HOOD| 1 |Znic alloy < +0.60 _— ONITS p— 90" type
5 ISR = X 10.38 X x3F SHEET SIZE A4 | SERES [ DS1047—01 SERIES
6 |INUT 3 (M3 XX +0.25 XX £2°
DRAWING TYPE |COSTOMER }1% ;;]SJ EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | c—-DsS1047—01—15xx-aA | €oOPRFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 I 7 l 8

REV. |  DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11’ ~
NOTES:
| 1. METAL HOOD MATERIAL: Znic alloy
o o 2. PART NUMBER CODE:
1 DS1047-01 — 25 X X

| 7 MN— $4.00 LPockim; type

\
@ | 777%%» | :E%ﬁ | Wz: Mix packing _
ANGUUOD ] : Separation packing

[ — [
/ o Cover Material

o
38
< | Y
. M | M: Metal(Znic alloy)
‘ [ ) = 25.00 !
[ — | -
‘ ] Positions
25: 25pin

47.04
54.07
70.40
79.40
5
BOM LIST
ITEM | PART NAME Q'ty | NOTES
1 |SCREW 3 M3
2 |UP METAL HOOD 1 |Znic alloy
S |LONG BOLT 2 [UNC 4-40 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @& [TITLE D—SUB 25pin Metal Cover
4 |DOWN METAL HOOD| 1 |Znic alloy < +0.60 _— ONITS - 90" type
> ISR 4 X +0.38 X £3 SHEET SIZE A4 SERIES [ DS1047—01 SERIES
6 |[NUT S M3 XX  +0.25 XX 22
»
DRAWING TYPE |COSTOMER @ }1% ﬁ]ﬁj EE; ? ﬁ IZE /ZA\ ﬁj
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—01—25XX—A connFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11’ ~
NOTES:
N 1. METAL HOOD MATERIAL: Znic alloy
2. PART NUMBER CODE:
* e DS1047-01 — 37 X X

_ 54,00 LPock\'mg type
N ] : 1: Mix packing

2: Separation packing

44.00
32.90

Cover Material
M: Metal(Znic alloy)

Positions
37: 37pin

‘ 63.50
70.07

86.40

95.4

: o |l
1
BOM LIST
ITEM | PART NAME Qty | NOTES
1 |SCREW AYE
2 |UP METAL HOOD 1 |Znic alloy
3 |LONG BOLT 2 |UNC 4—40
4 |DOWN METAL HOOD| 1 |Znic alloy GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @—E7 [TITLE D—SUB 37pin Metal Cover
> IR : X. +0.60 X. 5 UNITS mm 90 type
6 |NUT 4 M3 'YX 10.38 N SHEET SIZE A4 SERIES | DS1047—01 SERIES
XX +0.25 XX 2 .
DRAWING TYPE [COSTOMER @ }I% ﬁ]ﬁj H -+ ﬁ R N )
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—01—-37XX—A connFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




I 6

| 7 | 8

REV.

DESCRIPTION

DRAWN CHECKED APPROVED

NEW RELEASE

YCH 03/22/11° ~_

oF
W/ SR 6.5
W/0 SR 33.0~39.5
| oF
NOTES:
1. PART NUMBER CODE:
\ 1 DS1047-03 — 09 X X X
LSR Support
S: W/ SR
20160 X: W/0 SR
r 3 N Packing type
I X 1: Mix packing
2: Separation packing
Cover Material
M: Metal(Znic alloy)
Q
o DS1047-03 il 1 Positions
M EBNNFLY L ] 09: 9pin
| H 1
! -
il o B
i g h
‘ 15.00
‘ 24.99
31.60
|
o
N
9 -
C _— ‘ 7 v )
BOM LIST
ITEM | PART NAME Qty | NOTES
1 | SCREW M2.5*8 | 2 | M2.5
2 | METAL HOOD—1| 1 | Znic alloy
3 | SCREW M2.5%6 | 2 | M2.5
g gQSHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE |[PROJECTION | @—E7 [TITLE D—SUB 9pin Metal Hoods
6 | STRAIN RELIEF | 1 X.  +0.60 X. 45 UNITS mm Straight Cable Outlet Type
7 | BOLT 2 | UNC 4-40 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1047—03 SERIES
8 LATSH*; 1 XX £0.25 XX 22 -
9 | LATCH— 1 > —
10 | METAL HOOD—2| 1| Znic alloy DRAWING TYPE |COSTOMER )—E‘ #)]SJ EE‘ l ﬁ IKE /ZA\ a
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—03—09XXX conmnFLY CONNFLY ELECTRONIC CO. LTD
2 4 | 5 6 I 7 I 8




1 2 3 4 5 I 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF
W/ SR $6.5
TYPEA W/0 SR | 83.0~99.5
W/ SR $9.0
TYPEB W/0O SR [#8.5~912.5
NOTES:
1. PART NUMBER CODE:
DS1047-03 — 15 X X X X
[‘Q—F‘} TSR Support
S: W/ SR
| | X: W/0 SR
Type Support
A: Type A
! B: Type B
Packing type
1: Mix packing
2: Separation packing
Cover Material
3 | 1] M: Metal(Znic alloy)
¥ 1 1 Positions
[ 15: 15pin
4
& il
20.00
33.32
40.00
|
C < : - ;)
TYPE A BOM LIST TYPE B BOM LIST
ITEM [ PART NAME Q'ty [ NOTES ITEM | PART NAME Q'ty [ NOTES
1| SCREW 4 M3 1| SCREW LE
2 | METAL HOOD—1| 1 | znic alloy 2 | METAL HOOD—1[ 1 | znic alloy
431 WASHER ; i \éVRASHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 15pin Metal Hoods
CABLE REDUCTION PLATE 4
5 | SR 1 5 | STRAIN RELIEF [ 1 X. £0.60 X. =5 UNITS mm Straight Cable Outlet Type
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-03 SERIES
7 | BOLT 2 [unc4-40 7 | LATCH—1 1 XX +0.25 XX +2
8 | LATCH-1 1 8 [ LATCH-2 1 = ¥“ /\ ey
8 | LATCH-1 ! e DRAWING TYPE |COSTOMER = T’];J EE ? ﬁ IKE 73 EJ
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' | 1 OF 1
DRAWING NO. C—DS1047—03—15XXXX conmnFLY CONNFLY ELECTRONIC CO. LTD
1 ! 2 3 4 | 5 6 ! 7 I 8




1 2 3 4 5 I 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° N~
oF

W/ SR 48
TPEA /6 SR | #3.0~98.5

W/ SR 9.0
TPEB /0 SR [#8.5~0125

NOTES:

1. PART NUMBER CODE:
DS1047-03 — 25 X X X X

oF TSR Support
ﬁ : S: W/ SR
D) X: W/0 SR
m o 2 Type Support
1 1 7 A: Type A
‘ = ) B: Type B
Packing type
! ! 1: Mix packing
31|91 2: Separation packing
‘ Cover Material
M: Metal(Znic alloy)
‘ Positions
25: 25pin
1 N
[ \i] il
28.00
47.04
53.70
LT :
TYPE A BOM LIST TYPE B BOM LIST
ITEM | PART NAME Q'ty NOTES ITEM | PART NAME Q'ty NOTES TY P E A TY P E B
1 SCREW 4 M3 1 SCREW 4 M3
2 METAL HOOD—-1 1 Znic alloy 2 METAL HOOD—1 1 Znic alloy
3| WASHER 1 3 | WASHER i GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 25pin Metal Hoods
4 |CABLE REDUCTION PLATE| 2 4 SR 1 H
5 | SR 1 5 | STRAIN RELIEF [ 1 X. £0.60 X. =5 UNITS mm Straight Cable Outlet Type
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-03 SERIES
7 | BOLT 2 | UNC 4-40 7 | LATCH—1 1 XX +0.25 XX +2°
8 LATCH-1 1 8 LATCH—-2 1 = ¥‘ N /\ N
9 [ LATCH—2 i 9 | METAL HOOD—2| 1__| Znic alloy DRAWING TYPE |COSTOMER )ﬁ‘ T/]/] ? IKE /s a
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' | 1 OF 1
DRAWING NO. C—DS1047—03—25XXXX conmnFLY CONNFLY ELECTRONIC CO. LTD
1 ! 2 3 4 | 5 6 I 7 I 8




1 2 3 4 5 l 6 l 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° N
oF
W/ SR 99
TYPEA W/0 SR $3.0~912.0
W/ SR 611.5
TYPE B W/O SR [¢12.0~915.0 NOTES:
1. PART NUMBER CODE:
DS1047-03 — 37 X X X X
TSR Support
S: W/ SR
X: W/0 SR
Type Support
A: Type A
| B: Type B
Packing type
1: Mix packing
! 2: Separation packing
( Cover Material
M: Metal(Znic alloy)
Positions
37: 37pin
] [/,
44.00
63.50
70.20
Il
H T El )
k t : D! J
TYPE A BOM LIST TYPE B BOM LIST
ITEM | PART NAME Q'ty NOTES ITEM | PART NAME Q'ty NOTES TYPE B
1 SCREW 4 M3 1 SCREW 4 M3
2 METAL HOOD—1 1 Znic alloy 2 METAL HOOD—1 1 Znic alloy
3 WASHER 1 3 WASHER 1
4 |CABLE REDUCTION PLATE| 2 4 | SR L GENERAL TOLERANCE| ANGLE TOLERANCE —)- :
5 | SR 1 5 | STRAIN RELIEF | 1 c C PROJECTION @ & | TITLE D—S-UB 37pin Metal Hoods
& T STRAIN RELIEF ] 6 [ BoLT 5 UNC 440 X +0.60 X, 45 UNITS mm Straight Cable Outlet Type
7 [ BoLT 2 |UNC 4-40 7 [ LATCH-1 1 X +0.38 X 3 SHEET SIZE A4 SERIES | DS1047—-03 SERIES
8 LATCH-1 1 8 LATCH—-2 1 XX +0.25 XX +2°
9 | LATCH-2 1 9 | METAL HOOD-2[ 1 Znic alloy . . . = ¥ /\ ——
10 | METAL HOOD-2| 1 Znic alloy DRAWING TYPE |COSTOMER }E T)]>] EEA ? ﬁ IKE A a
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1047—03—37XXXX connFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




1 2 3 4 5 I 6 | 7 l 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09’ o
NOTES:

©
\
g/

©

,
\

J U]

43.90

1. PART NUMBER CODE:
DS1047-05 — 37 X X

[

Packing type
1: Mix packing
2: Separation packing

Cover Material
M: Metal(Znic alloy)

T T J— Positions
; i | 37: 37pin
7.50 1
' 70.40
1 8350 ‘ BOM LIST
< \ : ITEM | PART NAME Qty | NOTES
E]; [\ 1 1 | METAL HOOD—1| 1
‘ 2 | METAL HOOD—2[ 1
3 | LOCATOR 2
4 SR 1
5 | SCREW 7
6 | WASHER 1
] I
L. 9.5
/\ O\Q\ M3.0 /5
& () connrwy () S 3 3
! 275 g 6
7] | — 20 . 120 | 3 03
8.5 2 ?; -@
3 o
© - =T B n
K — =" N =
- ' g < 24.0
N |
GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @—& | TITLE D—SUB 37pin Metal Hoods
X.  +0.60 X. 45 UNITS mm Straight Cable Outlet Type
X +0.38 X %3 SHEET SIZE A4 SERIES | DS1047-05 SERIES
XX +0.25 XX £2° .
DRAWING TYPE |COSTOMER )‘L% #;]SJ EE ? ﬁ IKE /A.\ ﬁJ
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1047—05—37XX conneLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




39.50

::_*?—f

2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/14/11° T
1 NOTES:
1. METAL HOOD MATERIAL: Znic alloy
BOM LIST 2. PART NUMBER CODE:
ITEM | PART NAME Q'ty NOTES DS1049 - 09 X X
° 1 |UP METAL HOOD 2 |Znic alloy LPocking type
g 2 [sR 2 1: Mix packing
i © 3 |LONG BOLT 2 |UNC 4-40

40.80

65.22

14.80
o | 1o
.o O. z
N A -
L O— L—O
—"O'l—-/ \E'U‘—
..o O..
3 —-Ql“\ /"_LQ.—
8 O - o0
..O o..
)
——QL— ~—I0—
®e0 0°,
—"n.—-.\f-—{p

Cover Material
M: Metal(Znic alloy)

Positions
09: 9pin

oF
4.0
#5.0
®7.0
?9.0

GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @ [TITLE
UNITS D—SUB 9pin Metal Hoods

X. £0.60 X. %5 mm

X +0.38 X %3 SHEET SIZE A4 SERIES | DS1049 SERIES

XX £0.25 XX £2° .
DRAWING TYPE |COSTOMER JI% #;]SJ EE; ? ﬁ IKE /ZA\ ﬁj
SCALE 1:1  [SHEET [1 OF 1
DRAWING NO. | C—DS1049—09XX—A connFLY CONNFLY ELECTRONIC CO. LTD

4 |

5

6 I 7 I 8




1 3 4 5 l 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/14/11 o
1.00
NOTES:
1. METAL HOOD MATERIAL: Znic alloy
SO LiST 2. PART NUMBER CODE:
3 ITEM | PART NAME Q'ty NOTES DS1049 — 15 X X
ol o g 1 |UP METAL HOOD 2 [Znic alloy LPocking type
o 3 2 |SR 2 1: Mix packing
¥ 3 |LONG BOLT 2 |UNC 4-40

22.00

39.15

33.32

= - 1 Y
+
B 3 =

14.60

12.60

40.80

65.22

14.80
o | 1o
.o O. z
N A -
L O— L—O
—"O'l—-/ \E'U‘—
..o O..
3 —-Ql“\ /"_LQ.—
8 O - o0
..O o..
)
——QL— ~—I0—
®e0 0°,
—"n.—-.\f-—{p

Cover Material
M: Metal(Znic alloy)

Positions
15: 15pin

oF
4.0
#5.0
®7.0
?9.0

GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @ [TITLE
UNITS D—SUB 15pin Metal Hoods
X. £0.60 X. %5 mm
X +0.38 X %3 SHEET SIZE A4 SERIES [ DS1049 SERIES
XX £0.25 XX £2° .
DRAWING TYPE |COSTOMER JI% #;]SJ EE; ? ﬁ IKE /ZA\ ﬁj
SCALE 1:1  [SHEET [1 OF 1
DRAWING NO. | C—DS1049—15XX—A connFLY CONNFLY ELECTRONIC CO. LTD

4 |

5

6 I 7 I 8




2 3 4 5 | 6 I 7 l 8

48.90

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/14/11° e
100
NOTES:
1. METAL HOOD MATERIAL: Znic alloy
BOM LIST 2. PART NUMBER CODE:
° ITEM | PART NAME Q'ty NOTES DS1049 — 25 X X
< o -
N 2_ 1 UP METAL HOOD 2 |Znic alloy Packing type
E 2 [SR 2 1: Mix packing
3 |LONG BOLT 2 |UNC 4-40
C Cover Material
C M: Metal(Znic alloy)
Bl % = Positions
25: 25pin

UNC#4-40
12.60
40.60
14.80
47.04
E [o | —O
\ T ks BT g =
+ O o *e O O <
‘ iz = — o 4.0
s
] 2 ——O— 10 $5.0
—o— ) [0 2;-8
e L ] o O .. -
8 3 —-Ql“\ /"_LQ.—
g © o— ' L0
e [ ] o o ° L ]
) (o
——QL— ~—I0—
®e0 0°,
_"n-—-\f-—{p

GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @ [TITLE
UNITS D—SUB 25pin Metal Hoods
X. £0.60 X. %5 mm
X +0.38 X %3 SHEET SIZE A4 SERIES [ DS1049 SERIES
XX +0.25 XX £2° .
DRAWING TYPE |COSTOMER @ JI% #;]SJ EE; ? ﬁ IKE /ZA\ ﬁj
SCALE 1:1  [SHEET [1 OF 1
DRAWING NO. | C—DS1049—25XX—A connFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




